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I 1 mwn: mavn shared by the “five grains”
a  List: non (wheat), nmyw (barley), Pno1 (rice-wheat), 12w (spelt-wheat), 591w nv1aw (two-rowed barley)?
i note— “spelt” is a subset of wheat, other two are subset of barley — re: DR
ii  note: rice and millet are left off — per onY::onY (vv. 2-3)
1 and: we know that "1y on% must be from the five grains, per v. 3 — must be leavenable
715m: all of them — and only them — are liable for n%n
¢ 9rpy all five can be “merged” to generate a Myw
i An7712 grains, flour and dough are 97v¥n — but for what purpose?
1 2777 /7. for wIn MOR
2 qop a7 for liability for nvaa ynn
3 977 for culpability for eating v"yn outside of oW1V
4 Na7.to establish vulnerability to 09218 nrmv
(a) Teaching: that grain and flour must be like dough, i.e. shelled and visible
(i) Challenge: Xn1 teaching that wheat is q70xn even in husk (barley must be husked)
1. Challenge: »"121n — v. 4 — just as people plant, including seeds
2. Answer: that is if the barley is moist (seeds are reckoned); if dry — not reckoned
d  79¥ may not be eaten (considered "wn”) before noa
i Per:onY::ony (vv. 1, 3, as per above)
e  Nor:to harvest before the 1y
i Per: mwri:mwRy (vv. 5, 6)
f  Time frame: if they took root “before the 1ny”— that is 1'nn; if not, must wait for the next year’s 1y
i Meaning of “may not harvest before the 709"
1 7 77 before it is cut
2 N7ar 72 0p "1 before it is offered
(a) Challenge (to /29> 77): why not state succinctly - may not cut or eat before noa
3 Rather: their dispute is in re: the 89>0 — if it took root before the 10y (is brought/offered), 10y is mn...
g Question (7rp58 “1to 7@K 77): what is the source for nwIwn determining 9n’n of nY?
i Answerl: the Wy is brought from 2ax (v. 7), implying that other grain, not fit, is 1mn and is not yet 20a8
1 Challenge: perhaps it has to have grown to 1/3 its normal growth (m wyn nny) and nwIwn is insufficient
it Answer2 (5810®): from v. 8, implying that some non-wnin is 1mn thereby
1 Challenge: perhaps that refers to straw
iii  Answer3 (pny» 73): nnp (v. 8) — implies there are some non-stalks that are 1mmn
1 Challenge: perhaps it must have grown some (enough to bend, even if not cut)
iv  Answer4 (837): v.9 —y7tn TR - from the time of planting
1 Challenge (9): then no need for nwwn, should be "1mn immediately
2 Defense: it states nTwa > must be “in” the field (i.e. taken root)

3 These definitions follow Felix in several works, including niwna mxYpnn 991 'nn npixn
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